FInnany F=a=Jdey

ST
dth May i_
12.8 X 100 3 X = 9,000 — 252
What type of triangle i shown?
Reflect the triangle in the mirror line
Mizola takes part in a quiz.
Each cofrect answer is worth 150 points,
Each incosrect anawer is worth —60 points.,
Micola answers 2 guestons comecthy and
B questons incomacty.
How many paints doas Micola finksh with?
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Mame: . Primary S-a-day Gaold

5th May

0.6 = — 90.5 + 47.68 + 0.09

0.8 metres = centimetres |97 millimetres = | centimetres

Circle tha prime numbers

13 23 33 43 53 63

Jassica buya a book and & pen for £5

®»/

Jaymin buys the same book and 3 pens
for £8

w 7/

Celculate the cost of a book
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—51 + 20 30% of 40
Wark cut the size of angle x
®
48° a6°
Hera is a regular actagon with two verticas
joined to make the line AB.
Jain two ather vertices to draw & line
parallel to AB "
A
el E::-‘ *:-J‘FE' ::‘I- -u':‘: Chioe wanta to catch the train that takes
wilfor pazd it (e the shortest time.
What time train should she cateh?
The timetable showa the times of trains
from Southville to Mittan.
Chlge Ives in Southwille and works in
Milton.
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Aldan sama £14 an hour.

How much money does he give to his

dad?
He wiarks 17 hours in one week
He givas % of s total pay 1o his dad
For esch pattam put a tick if it has a Bne of
symmetry. Put a cross if it does not. I\/ . .
"
N
)

Joshua has £2 to spand on oranges.
Small oranges cost 15p each
Large oramges cost 25p each

He decides to buy only emall orangas ar
only large cranges.

How many maore small oranges than langs
oranges can he buy for £27

& Corbatimate 2017

i corbalimaihe, com






